Imam Muhammed Zakariya School, Numeracy Week, year 6 (t,h,th)
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Fill in the missing numbers:

1.  0.124 + 

= 1

2.  0.232 +

= 1

3.  0.361 +

= 1

4.  0.473 +

= 1

5.  0.651 +

= 1

6.  0.723 + 

= 1

7.  0.875 + 

= 1

8.  1 
-
0.152
= 

9.  1
-
0.249= 

10. 1 
-
0.578= 


Fill in the missing numbers:

1. 2.237 +

=10

2. 3.276 +

=10

3. 4.362 +

=10

4. 5.21 4+

=10

5. 1. 323 +

=10

6. 9.454 +

=10

7. 0.546 +

=10

Mandy has done the following calculations, tick the ones that are correct:

1. 100 – 0.766 = 99.234

2. 100 – 0.252 = 99.748

3. 100 – 7.574 = 93.532

4. 100 – 23.478 = 87.63

5. 100 – 57.899= 43.111

6. 100 – 91.521 = 9.489

7. 91.955 + 8.055 = 100

8. 55.555 + 45.455 = 100

9.  0.091 + 9.911 =10

10. 2.351 + 8.651= 10

11. 0.541 + 0.459 = 1
























































































